





NAME ______________________________
The Krebs Cycle and Electron Transport
9-2 pp 226-232
MULTIPLE CHOICE:
Circle the answer or answers that best complete the statement or answer the question.

(THERE MAY BE MORE THAN ONE RIGHT ANSWER.)

Which of the following shows the correct sequence during cellular respiration?


A. Electron transport chain  → glycolysis  → Krebs cycle


B. Glycolysis → Electron transport chain  → Krebs cycle


C. Krebs cycle → Electron transport chain  → glycolysis

D. Glycolysis → Krebs cycle → Electron transport chain  

Where do the carbon atoms in pyruvic acid end up following the Krebs cycle?


A. They enter the electron transport chain and make ATP

B. They become part of a carbon dioxide molecule and end up in the atmosphere

C. They join with citric acid to make Acetyl-CoA

D. They build up in the intermembrane space
Because cellular respiration requires oxygen it is said to be _________________


A. aerobic


B. anaerobic 

How many total ATP molecules are produced by 1 molecule of glucose completing cellular respiration ?




2

6

24

36
How many total CO2 molecules are produced by 1 molecule of glucose completing cellular respiration?




2

6

24

36
WHICH OF THE FOLLOWING ARE PRODUCED DURING THE KREBS CYCLE?


A. ATP


B. NADH


C. FADH2

D. CO2
What molecule is the final electron acceptor at the end of the Electron transport chain?


A. oxygen


B. carbon dioxide


C. glucose


D. NADH

The movement of which ion across the membrane from the intermembrane space to the matrix causes ATP synthase to spin and make ATP?

A. Na+ ions

B. oxygen


C. H+ ions


D. water

Which stage of cellular respiration produces the most ATP?


A. glycolysis


B. Krebs cycle


C. Electron transport


D. Acetyl-CoA charging

Which of the following happens during the Electron Transport chain? 
(Circle all that are true)

A. Energy from the moving electrons transports H+ ions into the intermembrane space


B. Carbon dioxide is released


C. Energy from H+ ions crossing back into the matrix causes ATP synthase to make ATP. 


D. Water is produced
Name the ? molecule that joins in this reaction 
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to make Acetyl-CoA.


A. ATP


B. NADP+

C. Coenzyme A


D. citric acid

If oxygen is present, what will happen to the NADH produced in this reaction?


A. Its electrons will enter the Electron 


         transport chain

 
B. It will donate its H+ ions to make glucose


C. It will join with ATP to make citric acid


D. It will join with oxygen to make CO2
[image: image2.png]Pyruvic acid

©0©
NAD"
NADH

Acetyl-CoA




Name the 6 carbon molecule that forms when Acetyl-CoA joins its 2 carbons to a 4 carbon molecule during the Krebs cycle.

A. ATP


B. pyruvic acid










  C. glucose










  D. citric acid

MATCH THE LETTER IN THE DIAGRAM WITH THE LABEL:
(You can use them MORE THAN ONCE or NOT AT ALL)


______[image: image3.png]Pyruvic acid

OO

Acetyl-CoA -

o000~ 00300

CITRIC ACID



  Place where glycolysis happens

______ Place where Krebs cycle happens

______  Place where enzymes for the Electron 


Transport Chain are located
______  Place that fills with H+ ions as electrons move 

                                     down the Electron transport chain







  ______  Place where ADP and P join to make ATP







during Electron transport
 ______  Place where oxygen acts as the final electron 
            acceptor to make water
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Explain why FADH2 produces fewer ATP molecules than NADH when it passes its electrons down the Electron transport chain.
_____________________________________________________________________
Explain where the enzymes for Electron Transport are located in bacteria (prokaryotes)
if they don’t have internal membranes.
_____________________________________________________________________
